e BR% g VWS BAE/ LS & fEA% %

@ | VoA VARKESFH 7 2 A6063 240x240x10 HIVEREfT R 1 kXNetan) 0vh20~50@3000M mwS1~R2400 #E/MMInA4148 #H+I0I1.5+ A

@ | 9x=z SUS304 240x34xt3 FKORE : ATYVANAT b-Yay. IR : MEH LT 1 par k31 @4700A ®EB:+REx. BEXFE :0-3F18mm (12XFE) WS

@ | KAFH SUS M3 x45 JERBRERE LB BARE (REHoA) 4 YYI4 @14.5M

@ | KA SUS M3 HCRARKRRE Q3 BARE (REBOA) 12 YyI4 @2H

® | Sowr SuS M3 A HCREEHRE 1 BARE (REBOR) 4 YII4 @1M

©® | Mo SUS M3A (RES3.2 x9MEE x10.5) JERBRERE LB BARE (REHBoA) 4 YYI4 @0.3M

@ | vahzy SUS M2 X6 HeRARKRRE Q3 BARE (REBOA) e kot an) @1.9H

BE7 4220 HIxft 7 3 AB063 ee0xg8.exte JCRBERRE LB BARE (XRL#HBoa) 4 Y, o20~@240M M/ NMINnA148 HH+m0I1.5s 8

ONREZE SUS M3 x7 JCRBRRRE LB BARE (RLHBoA) 8 YYI4 @1.5M

m g L ARATNEI-A4BBICBAL T TEE. R EWL->AVEEIRTOE0ZE BEIE TECRT L. IXZF
ZDHI-AMIFTOHIEFALBHEHIT%Z BRDDAEIXDIEERTRET %, #31EHT B, JLLRETIIZ
B\ THG, %4BEEETHT XYL ZENT -+ BEAE LT X HBUOWEHT 3,
RELGUNER,
] 0 M\/\ NN 77, AN TT77 T
‘ SJHM/Z\ NN B RS

A @ A-AKEX
240 /4.8 0 (15)

f) (25>
/D 34 40.8
= /
\ 7/ _3:u @:::::::@::::::::::::if;::,:::::::::@:::::::4@
5 0 . . /\@@@)
m ii |
g —= = = = = = = = = —1— = 8 %Heli = = = = = = = T IJeH* -
N ¥ ) 1
10 | H @ /®
i ? /
[ _;:J ‘ :::::::@::::::::::::j;;::::::::::::@::::::}Lﬁ —
A
: 2 : : z : - FLOSO ﬁﬁaﬂag 03ﬁ ESEI M Tak CO,LTD - o NZ_YNRES-1
' " — - _I 4 —_
: g : : g : [T ).%4 b+ RES—1 B8R arusan fakagl #i*M ﬂﬂ*M mg*y& )




5 AR B 44X BRA/ LT nE Tt A% #HE
@ | v a L ERKESW 7l 3 A6063 3950x75x10 HrUR BT RE 1 kNS tan) 0si20~350@3000M o9hS1~R2P400 M/ MmIna148 #h+mI1.5+ A
® | 9%z SUS304 350x34xt3 £RE : AVVANATV-Yay. IR |EE LD 1 YrBEL IR @5100H E&:9REA. BEXFES :0-I1FI8mm (12XFiZ) WS
® | A&EFI SuUS M3 x45 4 YyI4 @14.5M
@ | KAt SUS M3 12 Y14 ePH
® | S SUS M3 A 4 Y14 e1H™
® | Mo SUS M3A (REI3.2xIMEE xt0.2D 4 Y14 @0.3H
@ | parhzy SUS M2 X6 e kXS ttan) @1.9H
®@E7 #330 7l 3 A6063 330x8.2xt2 HEFFHRRBRE 2L BABRE (REHFoOH) 2 kX2 an) 2 0~R350M ME/MMTOa148 #E+mMI1.S+H
Q) | ®m@7 #55 Hixft 7l 2 A6063 20x8.2x%xt2 HEFFHRBE LI RABRE (REHFOA) 2 Y]] 2 0~@200M #ME/ I #4148 H#H+m0I1.55 A
@ | 4 SUS M3 x7 HEFFHRBE LI RABRE (REHOH) 8 YII4 @1.0M
maEEE [LUABCINETI-AABCEALINTEE. R ZB/LoAVEEINTNEO% A2 TELET L. HIXF
ZDBI-MIFHIEFALREITIZ BRDS ZEINDNIEERTERKT %, ZITIEDT B, INL-EEHIIZ
Y3/ 3 THEG, xABEETHT ¥ Y)IXZEN4T -+ 8ET LT X BUWIE®T 3,
RETUNER,
BB
|
PG ASHTNAKA
i A-AK T
A
/4.8
250 }@ (15) @
/ / 34 40,8
—
/ / _3:J e
/ 10 @B
L L — — — — — — — — — — . — Y’
~ :
10
_1:: 9
ﬂJA (®
330 f
| /
T @ - O _______-_-------"-—-— | - /T IO
9 i
7&7 _ _ _ _ _ _ _ _ _ _ _ yﬁi Ip)
i 1
® @
&:::::::@::::cz::::::::::::::i:::j:ﬁ::::::::::::::::::D::::@:::::::ﬁ
’ : : z : : z - IFLOCO {maoag 03H ESE M Takogi CO,LTD - o NZ_JRES-2
Sl + e e J .94+ RES-2 = PrvEEn TeRas N T e o }




